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1 Answer any ten questiong 2x10=20
R-CRIET 4fS eitersy Bz e o
a)  Define an 'indepeﬁdent event',
T FRT 7 ¢t e l
b)  Define ‘Standard Normg] Variable'
e AR be~ag R @7 |

©) IfX=a+bY, show that E(X) = '+ bE(Y).
‘ﬂﬁX=a+bY@,WC1Me @E(X)=a+ bE(Y).

d)  What are the properties of a probability
distribution function F X)?

I 35 Spspass F(X)q7 Z#ﬁﬁmf% &R

[Turn Over ]V



€)  State the ‘Weak Law of nge number’,
‘Weak Law of Large number’f @

f)  What is the probability mass function of 5
discrete random variable?

ﬂﬁﬁfﬁﬁr’f@ﬁmbﬁmpm.ﬁ &=
g) What is .'consistent estimator?
S e e A=

h)  What is meant by interva] estimation of
Parameters?

- RSIet-a w1 et s @RI
i) Distinéﬁi.sﬁ"between Population and sample
survey. .
SRR R U S — M 7|
' J)  What do You mean by 'Simple Random
Sampling'? ,
! %ﬁwwm’wmwe
k) Distinguish between Parameter and Statistic.

' 2ot gz ’fﬁﬂi%ﬂﬂﬁwmﬂl

1) Explain the concept of Minimum Varjance
Estimator,

WwaﬁwﬂaWWW|
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m) Distinguish between Standard Error and Standard

Deviation.
s 5 @3 s Rpyfe-aa e #A1de 91
n) State two limitations of classical definition of
Probability.
TR e g 7 et @
o) State thie Central Limit Theorem.
@@E A S @=L
2.  Answer any four questions: 5%x4=20
A oY 2 B 1 3
a) A, and A, are two events related with an
- experiment. Given P(Al)=%, P(A2)=-;- and
.P(AlnA2)=% determine the following
Probabilities. ‘ :
et e R 15 A A, A,
N P(Al)=%, P(A2)=% PER P(AlnA2)=-;-_ =
o7 e eI el 9 2
)" P(ALA)
iiy P(ACUAS)
iii) P(AFUA,) 1+1+3
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b)

Distinguish between simple random sampling
with replacement and simple random sampling
without replacement with an example.

en%srﬁwmwmmmew—a%mmw
Wwwmmmwmﬁw@w

State and px:p\(é' Ba)}es' theorem of Probabiljty.
Bayes a3 >fe1et wuft g wwe e w1

Find the mean and variance of Binomial
distribution.

ﬁ%ﬁm#&séwﬁﬁWI

Discuss the different properties of a good
estimator.

mmmwwaﬁmam%an

In case of SRSWR find E(X) and V(X) if X is a
random variable, . 2+3

SRSWR-q7 mﬂﬁxsaasﬁwwmma
W E(X) @ V(X) et 71
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a)

b
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Answer any two questions: 10x2=20
- g ecsm S e ¢

Define a Normal variable and discuss the
important propertiés of a Normal distribution.
| 248

@35 Normal vee3 @1 w6 @32 Normal
ReitTa wwgsy wfele S w1

The life (in hours) of electronic tubes of a

certain type is supposed to be normally
distributed with u=155 hr, 6=19hr. What is the
~ probability that the life of a tube will be:

G A RS @R T O 155 THI() 932

CSWNIN 9 2 T WY Thter Fem swopraet e,
fiRe e R 77 ¢

i)  between 136 hr. and 174 hr.
mwmnwé 174 92 S0

ii) _bet.\.wee_n 11 7 hr. and 193 hr.
T Y 117 92 193 92 509

iii) lessthan 117 hr.
TR WY <117 <2

iv) more than 193 hr.
TR oy >193 W
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Discuss the Problem of Estimation. Explain the
difference between point estimation and interval
estimation. ; 6+4

sARIoAE U cetTont e 1 R Aot

RS SRR S s T 9

d)
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A box contains 4 red balls, 3 black balls and 5
white balls. Two balls are drawn one after the
other at random with replacement. Find the
probabilities that: 5+5
<35 A 4 a1, 3% PN @R 5B W 7 o=
7' %1, 97 o7 9l elfeFreitTa aa o @edt
o5 | FEM TSI ARG MO A AT fefT
i)y . bdﬂl the balls are red;
7' 3R 4,

ii) one is red and one white.

- @3 w3 93 A
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